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>
> HEH 153.86.cm?

0

(9] Wol)=(A12)x (3121 2)x3.14
7x7x3.14 = 153.86 cm?




3.  dHolE FoA L.

>
> HEH 254.34cm?

0

(28] Wol)=(FA2)x (HA8)x3.14
9x 9 x3.14 = 254.34 cm?




Bk E2] Zo] & 10+ 2 = 5(cm)
o] go] : 5x5x3.14 = 78.5( cm?)
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> HEHD 153.86 cm?

(29 Hol)=7x 7 x 3.14 = 153.86( cm?)
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9x 9x3.14 = 254.34(m?)




7. H= 9o HolE FoAL.

>
> HEHD 706.5cm?

(29] Yol)=(RrAE)x (FAF)x3.14
= 15x 15 x 3.14 = 706.5( cm?)




8. e 2e 99 Wolg patelu Ptk Mg wiEA AL AL
ol

® 5+2x3.14 @ 5+5x%x3.14 ® 5x3.14

@5><5><3.14 ® 10x3.14

49| wol
=T A 5)x (A & )x3.14
=5x5x3.14
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> HEHD 25.12cm?

(A1E°l 8em <l HE

S|

o] yol) =(4><4><3.14)><%

= 25.12( cm?)
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252 dolE Acmzt 5HH
AXAX3.14 =785
AXA="785=+3.14

AXA=25

A =5(cm)

(A59] Zol)=5x2=10(cm)




